20130 0

JooooonA

No.13 [ [
20130 70 8000

1 OO0Oood.

nOn>2000000,A4=(a,)00KO0000O0O0O0.00000000.
1<j<n 1<k<n0000;k0000,A000,0,0k00000n—-1000
0000000 (-1)*000000 A0 (j,A)000000.

ai s A1 k-1 QA1 k+1 o Qg
Ajp = (1)t det | @bt 77 Gimthet G-ttt Gmln
7y
Aj+11 " Aj41k—1 Gj1k+1 C 0 Qj4in
an 1 o Opk—1 Qp k41 o Qpp

goboboogobobuooobo,boogooo.

00 1n0n>20000,A=(e;;)00KO00000R0000000,1<1i<n,
1<;j<n00004y0000 (,/)0000 A4,,;000000.0000,1<k1<n
o000 /0000, 0000000000.

detA (k:l)a
1) ariAus + agadis -+ apn A, =
(1) aradis+ar2di en {o (k #1).
det A (k=1),
2) a1 pArg+aspAo; + -+ appAng =
(2) a1pA1y 2,kA2 kLAnk {O (k #1).

0010 (1), (2)0000 k=!00000000000000detADO KO00OO
00,0k0000000000.
nOn>2000000,A0n00000000.0000, A0 (k3)000((,k)
000000040 (k)00 00000000 (4,0 ADDDDDODOOOO.
A000O0O0OOO ADOOOOOOOOO.0010000000000.

00 2n,n0n>20000,A00K000000,0000000,A0 A0000
O00000.0000, AA=AA=(detA)E,00000.

gbo20000400boo0o0o0.



1
et

D3daA¢ODDD,ADDDDDDDD,A4:d AZDDDDD.

00,n00000 ADDOOOODO, 1 =detE, =det(AA™") = (det A)(det A™1) O O
00000,detA£0000.000,000000.
en00000ADDDD,ADOO <= detA#£0.

00,100000 A=(e,,)00000,(1,1)0000 4,=100000,000
000 A=(1)000,001,2000000000.
000000000000000,0000000000000000000000
0,0000000,00000000000000000000000. 000000
ooooooooo.
() 000000000000000000,00000000.
(2) 000000000000000,0000000000000000000000
00000000,000000000000.
(3) (2)0000000000000000000000000.
(4) 000000000000000000000000, (1)0(3)00000000.
00000000000,0000000,0000000000000000000,0
000000000000000000.

2 Oodoo.

m,n000000, A = (a,;) 00 KDOODOOOODO (mn) 00000, 70O
1<r<min{m,n}000000,1<i1<ig< <, <m1<j<jp<---<j.<n
ooooooooooooooo. 0bo0,e,,;,0 (RHOODOO0-0000000
goooon.

Qi gy Qiyge "7 Qig gy

Qigjr Qiggo " Qig gy
det . . .

Qirji o Qipygo "7 Qi g
dooooooooooog-oobdoooob. n>20000 nO000O0O,nO00
OO0 AOD0DO0 AO»—1000000010000 —10000.00000000
goooooooooooo.

00 4mnO000000,A00KOOOODOOOO (mn)0000, rankA=r > 1
ooo.

(1) ADrO000O00000D0O0O0O0OODOOOO.

(2) ADsO0D0O00D000D00O00D00OD0O000,s<r00000.



